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O 7K 5 « BT VK5 R e e K Ae (5 B« IEBTELK Rt — 49 [ T )
RN

o om g 4 e wmwew{ 48170 [5A208 | 64128 | 7H17H | 8191
1| fix gt mLd | 100 0 0 0 0 0
2 B PHED DS S i Eh 9 | iiEn 3 | sitsnd
3 FIY AR OZE DS W meg/L | 0003 — 0.0003 A5 — — 0.0003 i
41k 8 & O % © b & | me/L | 0.0005 — 0.00005 A1t — — —
5l v v ko2 ok & W megL |0.01 — 0.001 A — — 0.001 A3
6l & O = o {b A& | me/t | 0.01 — 0.001 A it — — 0.001 A3
Tl F kK O 2 o b A& ¥ megL |0.01 — 0.001 A3l — — 0.001 A
8N fi 7 = & fk & ¥ me/r | 0.02 — 0.002 A7 — — 0.002 33
9 [ f4 B & = FE| meL | 0.04 — 0.004 A — — —
107 b4y kO Hifesy 7| mg/L | 0.01 — 0.001 A it — — 0.001 A3
11 |m B fE 22 38 K O HE WY RE RE % K| me/L | 10 — 2.8 — — 1.9
1217 v & & O %2 o & | met | 0.8 — 0.38 — — 0.37
13l 7 % Kk " % ® b & | mgL | 1.0 — 0. LA — — 0. 1A
14 |4 i ik i #| me/L | 0.002 — 0.0002 A — — 0.0002A7ii
154 ¥ 4+ %  H | mgL | 0.05 — 0.005A it — — 0.005A it
6|72 T Y e f oo | — | oo0akis | — — | 0.0045kiH
17y 27 0w wm oz % | mgL |0.02 — 0.002A i — — 0.002A i
187 » 9 7 m @ = F L | mgL |0.01 — 0.001 A3 — — 0.001 A3
9 vV 7 2 v = F L ¥ mgr |0.01 — 0.001 A3 — — 0.001 A5
20 |-~ > v > me/l | 0.01 — 0.001 A it — — 0.001 A3
21 |4 # k| me/L | 0.6 — 0.06 A i — — 0.08
22 |» = = i fg| me/L | 0.02 — 0.002Aif — — 0.002A i
23l = m & A A mgL |0.06 — 0.002 — — 0.004
241 s w v FE Bl me/L | 0.03 — 0.003 A7 — — 0.003 33
B 7w ' 2w A x| mgL | 0.1 — 0.003 — — 0.003
26 |5 ES M| me/L | 0.01 — 0.001 A3l — — 0.001 ATifi
2Tl ~ v oo w2 x| men | 0.1 — 0.008 — — 0.011
281 Uz wm  =m  EE Bl me/L | 0.03 — 0.003 A1 — — 0.003 35
297 v = v 2 v w2 % o mgL|003 — 0.003 — — 0.004
307 v = & mg/L | 0.09 — 0.001 Al — — 0.001 A3
31|/ v & 7 A F v R mgL |0.08 — 0.008Aif — — 0.008A i
3208 8 K O 2 o b & | mgL | 1.0 — 0.05Aifi — — 0.05 A i
BITAI=T AR BZE O A Y meL | 0.2 — 0.02Aifs — — 0.02A75
Mgk kK O = o b & W] meL | 0.3 — 0.03 A — — 0.03 i
3B K O o b & W meL | 1.0 — 0.05Aif — — 0.05 i
6P Y AR OBE O A W mgL | 200 — 12 — — 12
37~ v H v B O %E oAt & | me/l | 0.05 — 0.005 A3 — — 0.005 73
8l b w4 A | mgL | 200 11 10 10 11 10
39w, 7 kv y a% (@EE)| me/L | 300 — 81 — — 85
40 |7% % 7% 2 | me/L | 500 — 160 — — 170
41 4 4 v R om & M Al me | 0.2 — 0.02 A3 — — —
42 1> - 7 A N > mg/L | 000001 — 0.000001 At — — —
4312 — AF LV A4V R v R4 — | mg/L | 0.00001 — 0.000001 A — — —
4419 4 4 » R om iE M Al me/r | 0.02 — 0.002A it — — 0.002 A3
4517 = 7 — A H| meg/L |0.005 — 0.0005 A7 — — —
4614 B m ( TOC ® £ )| mer | 3 0.6 0.6 0.7 0.8 0.8
47 o H fit oy 6.9 6.9 6.9 6.9 6.8
48 I PO BEeL | BERL | BERL | BERL | BERL
49 | 5 & SO BEeL | BEeL | BEeL | BERL | BEleL
50 | ;s 5 LA I ST IEST LA LA
51 | FE|OBE 2 0.1AK% | O0.1K% | 0.1 | 0.LKW | 0.1K%

% 2 i} #| meL Joorw | 0.3 0.3 0.3 0.3 0.3
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o om g 4 e wmwew{ 48170 [5A208 | 64128 | 7H17H | 8191
1| fix gt mLd | 100 0 0 0 0 0

2 B PHED DS S i Eh 9 | iiEn 3 | sitsnd
3 FIY AR OZE DS W meg/L | 0003 — 0.0003 A5 — — 0.0003 i
41k 8 & O % © b & | me/L | 0.0005 — 0.00005 A1t — — —
5l v v ko2 ok & W megL |0.01 — 0.001 A — — 0.001 A3
6l & O = o {b A& | me/t | 0.01 — 0.001 A it — — 0.001 A3
Tl F kK O 2 o b A& ¥ megL |0.01 — 0.001 A3l — — 0.001 A
8N fi 7 = & fk & ¥ me/r | 0.02 — 0.002 A7 — — 0.002 33
9 [ f4 B & = FE| meL | 0.04 — 0.004 A — — —
107 b4y kO Hifesy 7| mg/L | 0.01 — 0.001 A it — — 0.001 A3
11 |m B fE 22 38 K O HE WY RE RE % K| me/L | 10 — 1.1 — — 1.0
1217 v & & O %2 o & | met | 0.8 — 0.40 — — 0.41
13l 7 % Kk " % ® b & | mgL | 1.0 — 0. LA — — 0. 1A
14 |4 i ik i #| me/L | 0.002 — 0.0002 A — — 0.0002A7ii
154 ¥ 4+ %  H | mgL | 0.05 — 0.005A it — — 0.005A it
6|72 T Y e f oo | — | oo0akis | — — | 0.0045kiH
17y 27 0w wm oz % | mgL |0.02 — 0.002A i — — 0.002A i
187 » 9 7 m @ = F L | mgL |0.01 — 0.001 A3 — — 0.001 A3
9 vV 7 2 v = F L ¥ mgr |0.01 — 0.001 A3 — — 0.001 A5
20 |-~ > v > me/l | 0.01 — 0.001 A it — — 0.001 A3
21 |4 # k| me/L | 0.6 — 0.06 A i — — 0.10
22 |» = = i fg| me/L | 0.02 — 0.002Aif — — 0.002A i
23l = m & A A mgL |0.06 — 0.002 — — 0.005
241 s w v FE Bl me/L | 0.03 — 0.003 A7 — — 0.003 33
B 7w ' 2w A x| mgL | 0.1 — 0.002 — — 0.003
26 |5 ES M| me/L | 0.01 — 0.001 A3l — — 0.001 ATifi
2Tl ~ v oo w2 x| men | 0.1 — 0.007 — — 0.013
281 Uz wm  =m  EE Bl me/L | 0.03 — 0.003 A1 — — 0.003 35
297 v = v 2 v w2 % o mgL|003 — 0.003 — — 0.005
307 v = & mg/L | 0.09 — 0.001 Al — — 0.001 A3
31|/ v & 7 A F v R mgL |0.08 — 0.008Aif — — 0.008A i
3208 8 K O 2 o b & | mgL | 1.0 — 0.05Aifi — — 0.05 A i
BITAI=T AR BZE O A Y meL | 0.2 — 0.02Aifs — — 0.02A75
Mgk kK O = o b & W] meL | 0.3 — 0.03 A — — 0.03 i
3B K O o b & W meL | 1.0 — 0.05Aif — — 0.05 i
6P Y AR OBE O A W mgL | 200 — 15 — — 15
37~ v H v B O %E oAt & | me/l | 0.05 — 0.005 A3 — — 0.005 73
8l b w4 A | mgL | 200 12 11 12 11 11
39w, 7 kv y a% (@EE)| me/L | 300 — 84 — — 88

40 |7% % 7% 2 | me/L | 500 — 170 — — 180
41 4 4 v R om & M Al me | 0.2 — 0.02 A3 — — —
42 1> - 7 A N > mg/L | 000001 — 0.000001 At — — —
4312 — AF LV A4V R v R4 — | mg/L | 0.00001 — 0.000001 A — — —
4419 4 4 » R om iE M Al me/r | 0.02 — 0.002A it — — 0.002 A3
4517 = 7 — A H| meg/L |0.005 — 0.0005 A7 — — —
4614 B m ( TOC ® £ )| mer | 3 0.8 0.9 1.0 1.1 1.0
47 o H fit oy 7.0 6.9 7.0 6.9 6.8
48 I PO BEeL | BERL | BERL | BERL | BERL
49 | 5 & SO BEeL | BEeL | BEeL | BERL | BEleL
50 | ;s 5 LA I ST IEST LA 1

51 | FE|OBE 2 0.1AK% | O0.1K% | 0.1 | 0.LKW | 0.1K%

% 2 i} #| meL Joorw | 0.3 0.3 0.3 0.3 0.3
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o om g 4 e wmwew{ 48170 [5A208 | 64128 | 7H17H | 8191
1| fix gt mLd | 100 0 0 0 0 0

2 B PHED DS S i Eh 9 | iiEn 3 | sitsnd
3 FIY AR OZE DS W meg/L | 0003 — 0.0003 A5 — — 0.0003 i
41k 8 & O % © b & | me/L | 0.0005 — 0.00005 A1t — — —
5l v v ko2 ok & W megL |0.01 — 0.001 A — — 0.001 A3
6l & O = o {b A& | me/t | 0.01 — 0.001 A it — — 0.001 A3
7l % & 0% o b & #| myL | 0.01 — 0.001 — — 0.001
8N fi 7 = & fk & ¥ me/r | 0.02 — 0.002 A7 — — 0.002 33
9 [ f4 B & = FE| meL | 0.04 — 0.004 A — — —
107 b4y kO Hifesy 7| mg/L | 0.01 — 0.001 A it — — 0.001 A3
11 |m B fE 22 38 K O HE WY RE RE % K| me/L | 10 — 1.6 — — 1.6
1217 v & & O %2 o & | met | 0.8 — 0.28 — — 0.25
13l 7 % Kk " % ® b & | mgL | 1.0 — 0. LA — — 0. 1A
14 |4 i ik i #| me/L | 0.002 — 0.0002 A — — 0.0002A7ii
154 ¥ 4+ %  H | mgL | 0.05 — 0.005A it — — 0.005A it
6|72 T Y e f oo | — | oo0akis | — — | 0.0045kiH
17y 27 0w wm oz % | mgL |0.02 — 0.002A i — — 0.002A i
187 » 9 7 m @ = F L | mgL |0.01 — 0.001 A3 — — 0.001 A3
9 vV 7 2 v = F L ¥ mgr |0.01 — 0.001 A3 — — 0.001 A5
20 |-~ > v > me/l | 0.01 — 0.001 A it — — 0.001 A3
21 |4 # k| me/L | 0.6 — 0.06 A i — — 0.13
22 |» = = i fg| me/L | 0.02 — 0.002Aif — — 0.002A i
23l = m & A A mgL |0.06 — 0.002 — — 0.003
241 s w v FE Bl me/L | 0.03 — 0.003 A7 — — 0.003 33
B 7w ' 2w A x| mgL | 0.1 — 0.002 — — 0.003
26 |5 ES M| me/L | 0.01 — 0.001 A3l — — 0.001 ATifi
2Tl ~ v oo w2 x| men | 0.1 — 0.007 — — 0.010
281 Uz wm  =m  EE Bl me/L | 0.03 — 0.003 A1 — — 0.003 35
297 v = v 2 v w2 % o mgL|003 — 0.002 — — 0.003
07 »w = & mg/L. | 0.09 — 0.001 — — 0.001
31|/ v & 7 A F v R mgL |0.08 — 0.008Aif — — 0.008A i
3208 8 K O 2 o b & | mgL | 1.0 — 0.05Aifi — — 0.05 A i
BITAI=T AR BZE O A Y meL | 0.2 — 0.02A¥5 — — 0.02A75
Mgk kK O = o b & W] meL | 0.3 — 0.03 A — — 0.03 i
3B K O o b & W meL | 1.0 — 0.05Aif — — 0.05 i
6P Y AR OBE O A W mgL | 200 — 12 — — 12
37~ v H v B O %E oAt & | me/l | 0.05 — 0.005 A3 — — 0.005 73
8l b w4 A | mgL | 200 6 6 6 6 6
39w, 7 kv y a% (@EE)| me/L | 300 — 56 — — —

40 |7 % % ¥ | mg/L | 500 — 120 — — 120
41 4 4 v R om & M Al me | 0.2 — 0.02 A3 — — —
42 1> - 7 A N > mg/L | 000001 — 0.000001 At — — —
4312 — AF LV A4V R v R4 — | mg/L | 0.00001 — 0.000001 A — — —
4419 4 4 » R om iE M Al me/r | 0.02 — 0.002A it — — 0.002 A3
4517 = 7 — A H| meg/L |0.005 — 0.0005 A7 — — —
4615 ¥ 4 ( TOC o & )| mgL 3 0.3 | 0.3 0.3 0.3 | 0.3
47 o H fit oy 7.3 7.3 7.3 7.5 7.2
48 I PO BEeL | BERL | BERL | BERL | BERL
49 | 5 & SO BEeL | BEeL | BEeL | BERL | BEleL
50 | ;s 5 LA I ST IEST LA LA
51 | FE|OBE 2 0.1AK% | O0.1K% | 0.1 | 0.LKW | 0.1K%

% 2 i} #| meL Joorw ] 04 0.2 0.2 0.2 0.2
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BRNTHE
el W H 4 A 9 H FEhi T iE
Ly — i il ImlH
2| K 1
3| W FI T A K OZEDONAAS W | m/L
40k 8 k& O %2 o b & W | mg/L
5l v vy kX F 0L A& W | meg/L
6|l ¢ K O &= o I & W | mg/L
e £ 2 v = o f{ A& W mg/L
gIox M - 9w A qk A& W] mg/L
N Eiil i i & = | meg/L
07 vtk &> T U mg/L
11| B2 #& = F Kk O # M B B % F| mg/L
1217 v % kX »* 2 o b & ¥ mg/L
BIx v £ &k O 2 o kb A& WP mg/L
14 | i) 1t 7% | mg/L
15 |1,4- ¥ * e A | mg/L
6] > 0 Sy P a s s Y e
17 |~ 7 = = A 74 Y me/L
8y ~ 7 7 v mwm = F L U mg/L
91~ v 7 v = F L mg/L
20 |-X Vg z ~| mg/L
21 | # iz me/L
22 |7 = = FE W[ mg/L
23 |7 o = AN JL 2l mg/L
24 |~ % = = P W2l mg/L
2%l 7 v = 7 v v X % | mg/L
26 | = H fiz[ mg/L
27 |#& | N N 7 A X V] mg/L
28 |~ ) 7 = = P fi[ mg/L
2917 v = v 7 v nm X % | mg/L
30 |7 =: E RN v A me/L
3 5 7 o F kR mg/L
2 H K O = o b & W mg/L
B v = s kR E OIS B mg/L
Ml &£ o = o fb A& | mg/L
B k= o b A& W meg/L
Bl r Vv oA KW E O A W mg/L
3Nl v v Kk O & O b & W mg/L
38 |4 1t 2 A Z >| mg/L
9P vy s, w7 x vy onm (B E)| mg/L
40 |7 3 33 w Y| me/L
4112 4 A > K m W M | meg/L
42 | £ 7 A N > mg/L
4312 — A F v A4 YV KR ) % A — | mg/L
41k 4 A o KR om & M Al me/L
457 - J — b Al mg/L
615 #H w» ( TOC O =& )| mg/L
47 Ip H il
48 IS
49 |2 £
50 | & gl K
51 | Bl =
1 S 1 - —
NI ( 5 = oA )
Hik & M 3 i 100mL 1}
10 7 SEhi ¥ 7E
7 UV 7 b 2 K U Y U A
v 7 % v 7
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BRNTHE
el W H 4 A 9 H FEhi T iE
Ly — i il ImlH
2| K 1
3| W FI T A K OZEDONAAS W | m/L
40k 8 k& O %2 o b & W | mg/L
5l v vy kX F 0L A& W | meg/L
6|l ¢ K O &= o I & W | mg/L
e £ 2 v = o f{ A& W mg/L
gIox M - 9w A qk A& W] mg/L
N Eiil fil§ i & = | meg/L
07 vtk &> T U mg/L
11| B2 #& = F Kk O # M B B % F| mg/L
1217 v % kX »* 2 o b & ¥ mg/L
BIx v £ &k O 2 o kb A& WP mg/L
14 | i) 1t 7% | mg/L
15 |1,4- ¥ * e A | mg/L
6] > 0 Sy P a s s Y e
17 |~ 7 = = A 74 Y me/L
8y ~ 7 7 v mwm = F L U mg/L
91~ v 7 v = F L mg/L
20 |-X Vg z ~| mg/L
21 | # iz me/L
22 |7 = = FE W[ mg/L
23 |7 o = AN JL 2l mg/L
24 |~ % = = P W2l mg/L
2%l 7 v = 7 v v X % | mg/L
26 | = H fiz[ mg/L
27 |#& | N N 7 A X V] mg/L
28 |~ ) 7 = = P fi[ mg/L
2917 v = v 7 v nm X % | mg/L
30 |7 =: E RN v A me/L
3 5 7 o F kR mg/L
2 H K O = o b & W mg/L
B v = s kR E OIS B mg/L
Ml &£ o = o fb A& | mg/L
B k= o b A& W meg/L
Bl r Vv oA KW E O A W mg/L
3Nl v v Kk O & O b & W mg/L
38 |4 1t 2 A Z >| mg/L
9P vy s, w7 x vy onm (B E)| mg/L
40 |7 3 33 w Y| me/L
4112 4 A > K m W M | meg/L
42 | £ 7 A N > mg/L
4312 — A F v A4 YV KR ) % A — | mg/L
41k 4 A o KR om & M Al me/L
457 - J — b Al mg/L
615 #H w» ( TOC O =& )| mg/L
47 Ip H il
48 IS
49 |2 £
50 | & gl K
51 | Bl =
64 12H 9 H i T & 12 7 F2ii ¥ 7E 3 H FEhti ¥ 7E
NI ( 5 = oA ) Mg
e £ M 3F el 100mL 0

7 UV 7 b 2 K U ¥ U A

DX e % % 7




Ly L T R B ST - R Bt )

JR KRB S (LI K 55 Rt — BV 7K 35)

BRNTHE
el W H 4 A 9 H FEhi T iE
Ly — i il ImlH
2| K 1
3| W FI T A K OZEDONAAS W | m/L
40k 8 k& O %2 o b & W | mg/L
5l v vy kX F 0L A& W | meg/L
6|l ¢ K O &= o I & W | mg/L
e £ 2 v = o f{ A& W mg/L
gIox M - 9w A qk A& W] mg/L
N Eiil fil§ i & = | meg/L
07 vtk &> T U mg/L
11| B2 #& = F Kk O # M B B % F| mg/L
1217 v % kX »* 2 o b & ¥ mg/L
BIx v £ &k O 2 o kb A& WP mg/L
14 | i) 1t 7% | mg/L
15 |1,4- ¥ * e A | mg/L
6] > 0 Sy P a s s Y e
17 |~ 7 = = A 74 Y me/L
8y ~ 7 7 v mwm = F L U mg/L
91~ v 7 v = F L mg/L
20 |-X Vg z ~| mg/L
21 | # iz me/L
22 |7 = = FE W[ mg/L
23 |7 o = AN JL 2l mg/L
24 |~ % = = P W2l mg/L
2%l 7 v = 7 v v X % | mg/L
26 | = H fiz[ mg/L
27 |#& | N N 7 A X V] mg/L
28 |~ ) 7 = = P fi[ mg/L
2917 v = v 7 v nm X % | mg/L
30 |7 =: E RN v A me/L
3 5 7 o F kR mg/L
2 H K O = o b & W mg/L
B v = s kR E OIS B mg/L
Ml &£ o = o fb A& | mg/L
B k= o b A& W meg/L
Bl r Vv oA KW E O A W mg/L
3Nl v v Kk O & O b & W mg/L
38 |4 1t 2 A Z >| mg/L
9P vy s, w7 x vy onm (B E)| mg/L
40 |7 3 33 w Y| me/L
4112 4 A > K m W M | meg/L
42 | £ 7 A N > mg/L
4312 — A F v A4 YV KR ) % A — | mg/L
41k 4 A o KR om & M Al me/L
457 - J — b Al mg/L
615 #H w» ( TOC O =& )| mg/L
47 Ip H il
48 IS
49 |2 £
50 | & gl K
51 | Bl =
64 12H 9 H i T & 12 7 F2ii ¥ 7E 3 H FEhti ¥ 7E
NI ( 5 = oA ) Mg
e £ M 3F el 100mL 0

7 UV 7 b 2 K U ¥ U A

DX e % % 7
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BRNTHE

el W H 4 A 9 H FEhi T iE

Ly — i il ImlH

2| K 1

3| W FI T A K OZEDONAAS W | m/L
40k 8 k& O %2 o b & W | mg/L

5l v vy kX F 0L A& W | meg/L

6|l ¢ K O &= o I & W | mg/L

e £ 2 v = o f{ A& W mg/L
gIox M - 9w A qk A& W] mg/L
9 | fil§ 1% A& £ | meg/L
07 vtk &> T U mg/L
11| B2 #& = F Kk O # M B B % F| mg/L
1217 v % kX »* 2 o b & ¥ mg/L
BIx v £ &k O 2 o kb A& WP mg/L
14 | i) 1t 7% | mg/L
15 |1,4- ¥ * e A | mg/L
6] > 0 Sy P a s s Y e
17 |~ 7 = = A 74 Y me/L
8y ~ 7 7 v mwm = F L U mg/L
91~ v 7 v = F L mg/L
20 |-X Vg z ~| mg/L
21 | # iz me/L
22 |7 = = FE W[ mg/L
23 |7 o = AN JL 2l mg/L
24 |~ % = = P W2l mg/L
2%l 7 v = 7 v v X % | mg/L
26 | = H fiz[ mg/L
27 |#& | N N 7 A X V] mg/L
28 |~ ) 7 = = P fi[ mg/L
2917 v = v 7 v nm X % | mg/L
30 |7 =: E RN v A me/L
3 5 7 o F kR mg/L
2 H K O = o b & W mg/L
B v = s kR E OIS B mg/L
Ml &£ o = o fb A& | mg/L
B k= o b A& W meg/L
Bl r Vv oA KW E O A W mg/L
3Nl v v Kk O & O b & W mg/L
38 |4 1t 2 A Z >| mg/L
9P vy s, w7 x vy onm (B E)| mg/L
40 |7 3 33 w Y| me/L
4112 4 A > K m W M | meg/L
42 | £ 7 A N > mg/L
4312 — A F v A4 YV KR ) % A — | mg/L
41k 4 A o KR om & M Al me/L
457 - J — b Al mg/L
615 #H w» ( TOC O =& )| mg/L
47 Ip H il

48 IS

49 |2 £

50 | & gl K
51 | Bl =

1 S 1 - —
NI ( 5 = oA )
Hik & M 3 i 100mL 1}

7 UV 7 b 2 K U ¥ U A

% e % % 7
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BRNTHE

el W H 4 A 9 H FEhi T iE

Ly — i il ImlH

2| K 1

3| W FI T A K OZEDONAAS W | m/L
40k 8 k& O %2 o b & W | mg/L

5l v vy kX F 0L A& W | meg/L

6|l ¢ K O &= o I & W | mg/L

e £ 2 v = o f{ A& W mg/L
gIox M - 9w A qk A& W] mg/L
9 | fil§ 1% A& £ | meg/L
07 vtk &> T U mg/L
11| B2 #& = F Kk O # M B B % F| mg/L
1217 v % kX »* 2 o b & ¥ mg/L
BIx v £ &k O 2 o kb A& WP mg/L
14 | i) 1t 7% | mg/L
15 |1,4- ¥ * e A | mg/L
6] > 0 Sy P a s s Y e
17 |~ 7 = = A 74 Y me/L
8y ~ 7 7 v mwm = F L U mg/L
91~ v 7 v = F L mg/L
20 |-X Vg z ~| mg/L
21 | # iz me/L
22 |7 = = FE W[ mg/L
23 |7 o = AN JL 2l mg/L
24 |~ % = = P W2l mg/L
2%l 7 v = 7 v v X % | mg/L
26 | = H fiz[ mg/L
27 |#& | N N 7 A X V] mg/L
28 |~ ) 7 = = P fi[ mg/L
2917 v = v 7 v nm X % | mg/L
30 |7 =: E RN v A me/L
3 5 7 o F kR mg/L
2 H K O = o b & W mg/L
B v = s kR E OIS B mg/L
Ml &£ o = o fb A& | mg/L
B k= o b A& W meg/L
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